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= = = T — T = [ [ |
1.11| Pom. gosp. [1-10] Pom. gosp.
;03 147 3.3 | Pos. bet. 3.7 | Pos. bet.
Ly
] O
r H=360 D
170 169 0
-
[de
<1
[ H=358
Ky 1.4] Magazyn obrony cywilnej %Mﬂgﬁ |
NI 47,0 Sklejka 24,6 Sklejka
L 52 -3.98
x H=353 v
1.1] Magazyn I—
16,4| Pos. bet.
— 1.8| Pom. sktadu opatu
23,0{ Pos. bet.
7 4,03
400 L 244 e i
1.9] Kottownia
I 31,1 Terakota
P -2.92 ||
] H=254
T It 1.0| Korytarz
L) ) 19,5/Pcv
< 1.2] Magazyn < I |
18,3| Pos. bet.
H=259 )
3| Korytarz 1.5 Korytarz 1.7] Magazyn Komin stalowy
b [Pcv 9,8 |PCV _ 9,3 |PCV )
288 #



	Sheets and Views
	Model


